
E
R

S
A

T
Z

T
E

IL
E

 N
O

T
E

N
P

U
LT

E

10050.000.01 vernickelt

EN
100/5

100/5 Notenpult

-1/07-

Position Bezeichnung Artikel-Nr. Stück

1 Parkettschoner 01.94.590.55 3
2 Senkblechschraube 03.02.655.25 1
3 Klemmschraube M6 x 14 mm 01.83.050.55 1
4 Vierkantmutter  M6 03.08.305.00 1
5 Klemmstück mit Zapfen R 8 01.86.635.55 1
6 Rändelschraube M6 x 16 mm 01.82.834.55 2
7 Klemmstück mit Zapfen R 6 01.86.620.55 1
8 Klemmstück mit Zapfen R 3,5 01.86.610.55 1
9 Konusspannring 01.85.470.00 1

10 Dreher 02.41.980.55 1
11 U-Scheibe ø 5,3 mm 03.11.310.29 1
12 Klemmutter geschw. groß M5 01.93.250.55 1
13 Schloßschraube M5 x 30 mm 03.07.150.01 1
14 Kopf kpl. 6.10050.1.01 1
15 Halbhohlniet 03.62.510.29 2

1

2

3

4

5

7

8
9
10
11

12

13

14

15

6

6


